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Name: __________________________________



1
Mrs. Donahue made up a game to help her class learn about imaginary numbers.  The winner will be the student whose expression is equivalent to [image: image1.png]


.  Which expression will win the game?
1) [image: image2.png];46



   2) [image: image3.png]47



   3) [image: image4.png];48



   4) [image: image5.png]49





2
What is the greatest possible integral value of x for which [image: image6.png]


 is an imaginary number?

3
For any power of i, the imaginary unit, where b is a whole number, [image: image7.png]j40+3



 equals

4
The expression [image: image8.png]10



 is equivalent to

5
The value of [image: image9.png]16



 is

6
The expression [image: image10.png];25



 is equivalent to

7
Which expression is equivalent to [image: image11.png];37





8
Which expression is equivalent to [image: image12.png];35



?

9
When simplified, [image: image13.png];99



 is equivalent to

10
Which expression is equivalent to [image: image14.png];233





11
The product of [image: image15.png]


 and [image: image16.png]


 is equivalent to

12
The product [image: image17.png]


 is

13
The expression [image: image18.png]


 is equal to

14
What is the value of [image: image19.png](5:%)°



?

15
If [image: image20.png]f(z) = x°*



, what is the value of [image: image21.png]


?

16
If [image: image22.png]f(z) = x°*



, what is the value of [image: image23.png]£:%)



?

17
The expression [image: image24.png]


 is equivalent to

18
When simplified, [image: image25.png];27

;3¢



 is equal to

19
The expression [image: image26.png]


 equals

20
If i is the imaginary unit, the expression [image: image27.png]L LRIl

11



 is equivalent to

21
The expression [image: image28.png]22 4 33



 is equivalent to

22
What is the value of [image: image29.png]


?

23
Expressed in simplest form, [image: image30.png]16

43025 448



 is equivalent to

24
If [image: image31.png]


, then [image: image32.png]


 is equivalent to

25
The expression [image: image33.png]2(2-1)



 is equivalent to

26
The expression [image: image34.png]3(2:% - 5¢)



 is equivalent to

27
The expression [image: image35.png]x(3%)% + 2



 is equivalent to

28
Express [image: image36.png]dxi+ Sy® + 6 + 2yt



 in simplest [image: image37.png]a + bi



 form.

29
Express [image: image38.png]


 in simplest form.

30
Determine the value of n in simplest form:  [image: image39.png]13 ;18
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